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Question 1

Question Type: MultipleChoice

Refer to the exhibit.

11.12/30 GO0/1 11.11/30Inside Interface
Client 2 10.1.1.2

All internal clients behind the ASA are port address translated to the public outside interface that has an IP address of 3.3.3.3. Client 1
and client 2 have established successful SSL VPN connections to the ASA. What must be implemented so that "3.3.3.3" is returned from



a browser search on the IP address?

Options:

A) Same-security-traffic permit inter-interface under Group Policy
B) Exclude Network List Below under Group Policy
C) Tunnel All Networks under Group Policy

D) Tunnel Network List Below under Group Policy

Answer:

D

Question 2

Question Type: MultipleChoice

Refer to the exhibit.



Client 1 10.1.1.1

Public Internet

Client 2 10.1.1.2

Client 1 cannot communicate with client 2. Both clients are using Cisco AnyConnect and have established a successful SSL VPN
connection to the hub ASA. Which command on the ASA is missing?

Options:




A) dns-server value 10.1.1.2
B) same-security-traffic permit intra-interface
C) same-security-traffic permit inter-interface

D) dns-server value 10.1.1.3

Answer:

B

Question 3

Question Type: MultipleChoice

Refer to the exhibit.



Client 1 10.1.1.1

Public Internet

Client 2 10.1.1.2

Client 1 cannot communicate with client 2. Both clients are using Cisco AnyConnect and have established a successful SSL VPN
connection to the hub ASA. Which command on the ASA is missing?

Options:




A) dns-server value 10.1.1.2
B) same-security-traffic permit intra-interface
C) same-security-traffic permit inter-interface

D) dns-server value 10.1.1.3

Answer:

B

Question 4

Question Type: MultipleChoice

Refer to the exhibit.



L1.1.2/30 G0/1 11.1.1/30Inside Interface

Client 2 10.1.1.2

All internal clients behind the ASA are port address translated to the public outside interface that has an IP address of 3.3.3.3. Client 1

and client 2 have established successful SSL VPN connections to the ASA. What must be implemented so that "3.3.3.3" is returned from
a browser search on the IP address?

Options:




A) Same-security-traffic permit inter-interface under Group Policy
B) Exclude Network List Below under Group Policy
C) Tunnel All Networks under Group Policy

D) Tunnel Network List Below under Group Policy

Answer:

D
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